

COMPLETE SUBMANIFOLDS IN SPHERES*

QING-MING CHENG

Dedicated to Professor Katsuhiko Shiohama on his sixtieth birthday

It is the purpose of this article to discuss complete submanifolds in spheres. Complete submanifolds with parallel mean curvature vector in spheres and complete submanifolds in spheres with constant scalar curvature will be mentioned. A result of complete submanifolds in Euclidean spaces with constant scalar curvature is also announced.

1. SUBMANIFOLDS WITH PARALLEL MEAN CURVATURE VECTOR

In this section, we shall study submanifolds with parallel mean curvature vector in spheres. First of all, we consider minimal submanifolds. Let M be an n -dimensional compact minimal submanifold in the unit sphere $S^{n+p}(1)$. Then the following Theorem due to Chern, do Carmo and Kobayashi [9] is well-known:

Theorem 1.1. *If M is an n -dimensional compact minimal submanifold in the unit sphere $S^{n+p}(1)$ with $S \leq \frac{n}{2-\frac{1}{p}}$, then M is totally geodesic, or $p = 1$ and M is isometric to the Clifford torus, or $p = n = 2$ and M is isometric to the Veronese surface. Where S denotes the squared norm of the second fundamental form.*

Remark 1.1. In [10], Li and Li extended the pinching constant $S \leq \frac{n}{2-\frac{1}{p}}$ to $S \leq \frac{2n}{3}$ if the codimension p is greater than 1.

In particular, when M is a minimal hypersurface, Cheng and Yang [7] extended the result due to Chern, do Carmo and Kobayashi as the following:

Theorem 1.2. *Let M be a compact minimal hypersurface in $S^{n+1}(1)$ with constant scalar curvature. If $S \leq n + \frac{n}{3}$, then $S = 0$ and M is totally geodesic or else $S = n$ and M is isometric to the Clifford torus.*

In particular, when $n = 3$, Cheng and Wan [6] obtained the following

Key words and phrases. submanifolds, totally umbilical submanifold, generalized cylinder, constant mean curvature, constant scalar curvature and second fundamental form.

*Research partially Supported by Grant-in-Aid for Scientific Research from the Ministry of Education, Science and Culture

2000 Mathematics Subject Classification 53C20, 53C42

Theorem 1.3. *The totally geodesic sphere, the Clifford torus and the tube of the Veronese surface are the only complete minimal hypersurfaces in $S^4(1)$ with constant scalar curvature.*

As a generalization of the result due to Chern, do Carmo and Kobayashi, Nomizu and Smyth [12] studied hypersurfaces with constant mean curvature in the unit sphere and proved the following:

Theorem 1.4. *Let M be an n -dimensional hypersurface with constant mean curvature in the unit sphere $S^{n+1}(1)$.*

- (1) *If M is compact and the sectional curvature of M is nonnegative, then M is isometric to the totally umbilical sphere or the Riemannian product $S^{n-k}(c_1) \times S^k(c_2)$ of spheres.*
- (2) *When M is complete and the scalar curvature of M is constant, if the sectional curvature of M is nonnegative, then M is isometric to the totally umbilical sphere or the Riemannian product $S^{n-k}(c_1) \times S^k(c_2)$ of spheres.*

Proof. By a direct computation, we have

$$(1.1) \quad \frac{1}{2} \Delta S = \sum_{i,j,k=1}^n h_{ijk}^2 + \sum_{i < j} (\lambda_i - \lambda_j)^2 R_{ijij}.$$

(1). If M is compact, we have that principal curvatures are constant and the number of distinct principal curvatures is at most two from the Stokes formula because the sectional curvature of M is nonnegative. The classification of isoparametric hypersurfaces due to Cartan yields that Theorem 1.4 holds.

(2). If M is complete and the scalar curvature is constant, we also have that principal curvatures are constant and the number of distinct principal curvatures is at most two from (1.1) because the sectional curvature of M is nonnegative. This finished the proof of Theorem 1.4.

In particular, when $n = 3$, Cheng and Wan [6] completely classified complete hypersurfaces with constant mean curvature and constant scalar curvature in the unit sphere $S^4(1)$, that is, the following is proved:

Theorem 1.5. *Let M be a 3-dimensional complete hypersurface with constant mean curvature in the unit sphere $S^4(1)$. If the scalar curvature is constant, then M is isometric to the totally umbilical sphere, the Riemannian product $S^{n-k}(c_1) \times S^k(c_2)$ of spheres ($k = 1, 2$) or the isoparametric hypersurface with three distinct principal curvature due to Cartan.*

For general cases, submanifolds with parallel mean curvature vector in spheres were researched by many mathematician (for examples, Alencar and do Carmo [1], Cheng and Nakagawa [4], Shiohama and Xu [14], Yano and Ishihara [15], Yau [18] and so on). In particular, Shiohama and Xu [14] proved the following:

Theorem 1.6. *Let M be an n -dimensional compact submanifold with parallel mean curvature vector in the unit sphere $S^{n+p}(1)$. If*

$$S \leq C(n, p, H),$$

then M is isometric to one of the following:

- (1) the totally umbilical sphere;
- (2) the Riemannian product $S^{n-1}(c_1) \times S^1(c_2)$ of spheres;
- (3) the Veronese surface.

where

$$C(n, p, H) = \begin{cases} n + \frac{n^3}{2(n-1)}H^2 - \frac{n(n-2)}{2(n-1)}\sqrt{n^2H^4 + 4(n-1)H^2}, \\ \text{for } p = 1, \text{ or } p = 2 \text{ and } H \neq 0, \\ \min\{n + \frac{n^3}{2(n-1)}H^2 - \frac{n(n-2)}{2(n-1)}\sqrt{n^2H^4 + 4(n-1)H^2}, \\ \frac{1}{3}(2n + 5nH^2)\}, \text{ for } p \geq 3 \text{ or } p = 2 \text{ and } H = 0. \end{cases}$$

Where H denotes the mean curvature.

2. SUBMANIFOLDS WITH CONSTANT SCALAR CURVATURE

In this section, we shall consider submanifolds in sphere with constant scalar curvature. When the codimension is one, in [8], S.Y. Cheng and Yau proved the following:

Theorem 2.1. *Let M be an n -dimensional compact hypersurface with constant scalar curvature $n(n-1)r$, if $r \geq 1$ and the sectional curvature of M is non-negative, then M is isometric to either the totally umbilical hypersurface or the Riemannian product $S^k(c_1) \times S^{n-k}(c_2)$ $1 \leq k \leq n-1$, where $S^k(c)$ denote the sphere of radius c .*

Proof. By a direct calculation, we have

$$(2.1) \quad \square(nH) = \sum_{i,j,k} h_{ijk}^2 - n^2|\text{grad}H|^2 + \sum_{i < j} (\lambda_i - \lambda_j)^2 K_{ij},$$

where K_{ij} is the sectional curvature for the 2-plane spanned by e_i and e_j and λ_i , for $i = 1, 2, \dots, n$, are the principal curvatures. Since the scalar curvature is constant, we have from the Gauss equation, we have

$$2n^2 H \nabla_k H = 2 \sum_i \lambda_i h_{iik}.$$

Hence, we have, from $r \geq 1$,

$$(2.2) \quad \sum_{i,j,k} h_{ijk}^2 \geq n^2|\text{grad}H|^2.$$

From Stokes formula, we obtain that the mean curvature H is constant since the sectional curvature is non-negative. Therefore, from the Theorem 1.4, we know that Theorem 2.1 is true.

Remark 2.1. The differential operator \square is defined by, for any differentiable function f defined on M ,

$$\square f = \sum_{i,j=1}^n (nH - h_{ij}) \nabla_i \nabla_j f,$$

where H and h_{ij} denote the mean curvature and the components of the second fundamental form of M , respectively.

By making use of the similar method which was used by Nakagawa and the author in [4] and the above differential operator \square introduced by S.Y. Cheng and Yau, Li [11] proved the following:

Theorem 2.2. *Let M be an n -dimensional compact hypersurface with constant scalar curvature $n(n-1)r$, if $r \geq 1$ and*

$$(2.3) \quad S \leq (n-1) \frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2},$$

then M is isometric to either the totally umbilical hypersurface or the Riemannian product $S^1(\sqrt{1-c^2}) \times S^{n-1}(c)$ with $c^2 = \frac{n-2}{nr} \leq \frac{n-2}{n}$, where S is the squared norm of the second fundamental form of M .

Proof. Since (2.3) holds, we can prove that

$$\sum_{i < j} (\lambda_i - \lambda_j)^2 K_{ij} \geq 0.$$

Hence, from the same assertions as in proof of Theorem 2.1, we can infer that the mean curvature H is constant and M is an isoparametric hypersurface with at most two distinct principal curvatures. Hence, Theorem 2.2 is proved.

Remark 2.2. We should notice that the condition $r \geq 1$ plays an essential role in the proofs of the above Theorem 2.1 and Theorem 2.2.

On the other hand, we consider the following example:

Example 2.1. For any $0 < c < 1$, by considering the standard immersions $S^{n-1}(c) \subset \mathbf{R}^n$, $S^1(\sqrt{1-c^2}) \subset \mathbf{R}^2$ and taking the Riemannian product immersion $S^1(\sqrt{1-c^2}) \times S^{n-1}(c) \hookrightarrow \mathbf{R}^2 \times \mathbf{R}^n$, we obtain a compact hypersurface $S^1(\sqrt{1-c^2}) \times S^{n-1}(c)$ in $S^{n+1}(1)$ with constant scalar curvature $n(n-1)r$, where $r > 1 - \frac{2}{n}$.

The Example 2.1 shows that not all Riemannian products $S^1(\sqrt{1-c^2}) \times S^{n-1}(c)$ appear in these results in Theorem 2.1 and Theorem 2.2. Since the Riemannian product $S^1(\sqrt{1-c^2}) \times S^{n-1}(c)$ has only two distinct principal curvatures and its scalar curvature $n(n-1)r$ is constant and satisfies $r > 1 - \frac{2}{n}$. Hence, we would like to ask the following:

Problem 2.1. *Let M be an n -dimensional complete hypersurface with constant scalar curvature $n(n-1)r$ in $S^{n+1}(1)$. If M is of only two distinct principal curvatures one of which is simple, then, does $r > 1 - \frac{2}{n}$ hold?*

In the following Theorem 2.3 we answer this Problem 2.1, affirmatively, and prove that if $r \neq \frac{n-2}{n-1}$, then $S^1(\sqrt{1-c^2}) \times S^{n-1}(c)$ is the only complete hypersurfaces in $S^{n+1}(1)$ with constant scalar curvature $n(n-1)r$ and with two distinct principal curvatures one of which is simple such that $S \geq (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2}$.

Theorem 2.3. *Let M be an n -dimensional complete hypersurface in $S^{n+1}(1)$ with constant scalar curvature $n(n-1)r$ and with two distinct principal curvatures one of which is simple. Then $r > 1 - \frac{2}{n}$ and, when $r \neq \frac{n-2}{n-1}$, if $S \geq (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2}$, then M is isometric to the Riemannian product $S^1(\sqrt{1-c^2}) \times S^{n-1}(c)$.*

Furthermore, we consider the case that $r = \frac{n-2}{n-1}$ holds, we infer the following:

Theorem 2.4.

- (1) *Let M be a complete hypersurface with two distinct principal curvatures one of which is simple in $S^{n+1}(1)$. If $r = \frac{n-2}{n-1}$, then $S \geq (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2} = n$ and if $S = n$ holds on M , then M is isometric to the Clifford torus $S^1(\sqrt{\frac{1}{n}}) \times S^{n-1}(\sqrt{\frac{n-1}{n}})$;*
- (2) *There are no complete hypersurfaces with two distinct principal curvatures one of which is simple in $S^{n+1}(1)$ such that $r = \frac{n-2}{n-1}$ and $S > (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2} = n$.*

Remark 2.3. The Clifford torus $S^1(\sqrt{\frac{1}{n}}) \times S^{n-1}(\sqrt{\frac{n-1}{n}})$ is a complete minimal hypersurface in $S^{n+1}(1)$ such that $r = \frac{n-2}{n-1}$ and $S = (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2} = n$.

From Theorem 2.3, Theorem 2.4, we have

Corollary 2.1. *Let M be an n -dimensional ($n > 3$) complete locally conformally flat hypersurface with constant scalar curvature $n(n-1)r$ in $S^{n+1}(1)$. Then $r > 1 - \frac{2}{n}$ and, when $r \neq \frac{n-2}{n-1}$, if $S \geq (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2}$, then M is isometric to $S^1(\sqrt{1-c^2}) \times S^{n-1}(c)$.*

Proof. Since M is a locally conformally flat hypersurface, we know that M is of at most two distinct principal curvatures and one of them is of at least $n-1$ multiplicities. If at some point p , these principal curvatures are equal with each other, then $S = nH^2$ at this point p . From the Gauss equation, we have $S = nH^2 = n(r-1) \geq 0$. Since $S \geq (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2}$, we have $n(r-1) \geq (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2}$. This is impossible. Hence M is of two distinct principal curvatures and one of them is of $n-1$ multiplicities. From the Theorem 2.3, we know that M is isometric to $S^1(\sqrt{1-c^2}) \times S^{n-1}(c)$. That is, Corollary 2.1 is proved.

Corollary 2.2. *There are no complete locally conformally flat n -dimensional ($n > 3$) hypersurfaces in $S^{n+1}(1)$ such that $r = \frac{n-2}{n-1}$ and $S > (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2}$.*

Proof. By making use of Theorem 2.4 and the same argument in Corollary 2.1, we know that Corollary 2.2 is true.

From Theorem 2.3, Theorem 2.4 and Example 2.1, it is interesting to generalize these results in Theorem 2.1 and Theorem 2.2 to the case $r > 1 - \frac{2}{n}$. That is, it is interesting to prove the following:

Problem 2.2. *Let M be an n -dimensional complete hypersurface with constant scalar curvature $n(n-1)r$ in $S^{n+1}(1)$. If $r > 1 - \frac{2}{n}$ and $S \leq (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2}$, then M is isometric to either the totally umbilical hypersurface or the Riemannian product $S^1(\sqrt{1-c^2}) \times S^{n-1}(c)$.*

When $r = \frac{n-2}{n-1}$, we answer this Problem 2.2, affirmatively, in the following Theorem 2.5. For the general case, we can not answer it yet.

Theorem 2.5. *Let M be an n -dimensional complete hypersurface with constant scalar curvature $n(n-1)r$ ($r = \frac{n-2}{n-1}$) in $S^{n+1}(1)$. If $S \leq (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2}$, then M is isometric to the Clifford torus $S^1(\sqrt{\frac{1}{n}}) \times S^{n-1}(\sqrt{\frac{n-1}{n}})$.*

Proof. Since $r = \frac{n-2}{n-1}$, we know $n(r-1) + 2 = r$. From the Gauss equation, we have

$$\begin{aligned} 0 &\leq n^2 H^2 \\ &= S + n(n-1)(r-1) \\ &\leq (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2} + n(n-1)(r-1) \\ &= (n-1)\frac{r}{n-2} + \frac{n-2}{r} + n(n-1)(r-1) \\ &= 1 + (n-1) - n = 0. \end{aligned}$$

Hence, we infer $H = 0$ on M , that is, M is minimal and $S = (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2} = n$. Therefore, the assertion in Theorem 2.5 is true from the Theorem 1.1.

In order to prove Theorem 2.3 and Theorem 2.4, we consider n -dimensional hypersurfaces in a unit sphere $S^{n+1}(1)$ with constant scalar curvature $n(n-1)r$. From now on, we assume that M is an n -dimensional complete hypersurface with constant scalar curvature and with two distinct principal curvatures in $S^{n+1}(1)$ and one of these two distinct principal curvatures is simple, that is, we assume

$$\lambda_1 = \lambda_2 = \cdots = \lambda_{n-1} = \lambda \quad \text{and} \quad \lambda_n = \mu.$$

The following Lemma 2.1 and Lemma 2.2 hold.

Lemma 2.1. *If M is of two distinct principal curvatures and λ is the principal curvature of $n - 1$ multiplicities, we obtain the following:*

- (1) *When $r - 1 \geq 0$, $S \geq (n - 1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2}$ holds if and only if $w^{-n} = \lambda^2 - r + 1 \geq \frac{2r}{n-2}$.*
- (2) *When $1 - \frac{2}{n} < r < 1$ and $r \neq \frac{n-2}{n-1}$, $S \geq (n - 1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2}$ holds if and only if one of the following conditions holds*
 - (a). *$w^{-n} = \lambda^2 - r + 1 \geq \frac{2r}{n-2}$ and $\lambda^2 \geq 1 - r$*
 - (b). *$w^{-n} = \lambda^2 - r + 1 \leq \frac{2r}{n-2}$ and $\lambda^2 < 1 - r$.*

Lemma 2.2. *Let M be of two distinct principal curvatures and let λ denote the principal curvature of $n - 1$ multiplicities. If $r \leq 1 - \frac{2}{n}$, then $\frac{dw(s)}{ds}$ is a monotone increasing function of s .*

Proof of Theorem 2.3. From the assumption of Theorem 2.3, we know that if w is constant, then λ is constant because of $w^{-n} = \lambda^2 - r + 1$. Hence, the Theorem 2.3. is true. Next, we shall prove that w must be constant. If w is not constant, we shall obtain a contradiction. In fact, since $w^{-n} = \lambda^2 - r + 1$ satisfies the equation

$$(2.4) \quad \frac{d^2w}{ds^2} - w\left(\frac{n-2}{2} \frac{1}{w^n} - r\right) = 0,$$

we know that $w(s)$ is a function defined in $(-\infty, +\infty)$ because M is complete and the integral curve of principal vector field corresponding to μ is a geodesic. From Lemma 2.1, we conclude the following:

- (1) *if $r - 1 \geq 0$, then $S \geq (n - 1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2}$ holds if and only if $w^{-n} = \lambda^2 - r + 1 \geq \frac{2r}{n-2}$.*
- (2) *if $1 - \frac{2}{n} < r < 1$ and $r \neq \frac{n-2}{n-1}$, $S \geq (n - 1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2}$ holds if and only if one of the following conditions holds*
 - (a). *$w^{-n} = \lambda^2 - r + 1 \geq \frac{2r}{n-2}$ and $\lambda^2 \geq 1 - r$*
 - (b). *$w^{-n} = \lambda^2 - r + 1 \leq \frac{2r}{n-2}$ and $\lambda^2 < 1 - r$.*

From the equation (2.4), we obtain

- (1) *if $r \leq 1 - \frac{2}{n}$, then from Lemma 2.2, we know $\frac{dw}{ds}$ is an increasing function of s*
- (2) *if $r - 1 \geq 0$, then*

$$\frac{d^2w}{ds^2} \geq 0;$$

- (3) *if $1 - \frac{2}{n} < r < 1$ and $r \neq \frac{n-2}{n-1}$, then one of the following inequalities:*

$$\frac{d^2w}{ds^2} \geq 0$$

and

$$\frac{d^2w}{ds^2} \leq 0$$

is satisfied.

Hence, either $\frac{dw}{ds}$ is an increasing function of s or $\frac{dw}{ds}$ is a decreasing function of s if w is not constant. Hence, we infer that it is impossible from the following Proposition 2.1. The proof of Theorem 2.3. is completed.

Proposition 2.1. *Let M be an n -dimensional complete hypersurface with constant scalar curvature $n(n-1)r$ and with two distinct principal curvatures in $S^{n+1}(1)$. Let λ denote the principal curvature of $n-1$ multiplicities. Then $w(s)$ is constant if $\frac{dw(s)}{ds}$ is a monotone function of s .*

Proof of Theorem 2.4. (1). Since $r = \frac{n-2}{n-1}$, we have

$$\begin{aligned} S &= (n-1)\lambda^2 + \mu^2 \\ &= (n-1)\lambda^2 + \left(\frac{n(r-1)}{2\lambda} - \frac{n-2}{2}\lambda\right)^2 \\ &= \frac{n^2}{4}\lambda^2 + \frac{n^2(r-1)^2}{4\lambda^2} - \frac{n(n-2)}{2}(r-1) \\ &= \frac{n^2}{4}\left(\lambda - \frac{1}{(n-1)\lambda}\right)^2 + n \\ &\geq n. \end{aligned}$$

And $S = n$ at some point if and only if $\lambda - \frac{1}{(n-1)\lambda} = 0$, that is, $\lambda^2 = \frac{1}{n-1}$ at this point. From the Gauss equation, we know that M is minimal at this point. Hence, if $S = n$ on M holds, then M is a minimal hypersurface. From the theorem 1.1, we know that M is isometric to the Clifford torus $S^1(\sqrt{\frac{1}{n}}) \times S^{n-1}(\sqrt{\frac{n-1}{n}})$.

(2). Since $r = \frac{n-2}{n-1}$, by making use of the same proof as one in Theorem 2.3, we know that $S > (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2}$ holds if and only if one of the following conditions holds

- (a). $w^{-n} = \lambda^2 - r + 1 > \frac{2r}{n-2}$ and $\lambda^2 > 1 - r$
- (b). $w^{-n} = \lambda^2 - r + 1 < \frac{2r}{n-2}$ and $\lambda^2 < 1 - r$.

and $S = (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2} = n$ holds if and only if $\lambda^2 = 1 - r$ holds. Since $S > (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2}$ holds and λ^2 is a continuous function of s , we conclude that $\lambda^2 \neq 1 - r$. Hence, we infer that either $\frac{dw}{ds}$ is an increasing function of s or $\frac{dw}{ds}$ is a decreasing function of s if w is not constant. Hence, we infer that $w(s)$ is constant from the above Proposition 2.1. From (2.4) we have $\lambda^2 = \frac{1}{n-1}$. Hence, $S = (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2} = n$. This is impossible. The proof of Theorem 2.4 is completed.

For submanifolds with higher codimensions, we obtained in [2]:

Theorem 2.6. *Let M^n be an n -dimensional ($n > 2$) compact submanifold with constant scalar curvature $n(n-1)r$ satisfying $r > 1$ in the unit sphere $S^{n+p}(1)$. If*

$$S \leq \alpha(n, r),$$

then M^n is isometric to the totally umbilical sphere $S^n(r)$ or the Riemannian product $S^1(\sqrt{1-c^2}) \times S^{n-1}(c)$ with $c = \frac{n-2}{nr}$, where S is the squared norm of the second fundamental form of M^n and

$$\alpha(n, r) = \begin{cases} (n-1)\frac{n(r-1)+2}{n-2} + \frac{n-2}{n(r-1)+2}, & \text{for } p \leq 2, \\ n(r-1) + \frac{3n-5+(n^2-n-1)(r-1)}{2n^2r^2} \\ \quad - \frac{(n-2)\sqrt{4+2(3n-1)(r-1)+(n^2+2n-2)(r-1)^2}}{2n^2r^2}, & \text{for } p \geq 3. \end{cases}$$

3. SUBMANIFOLDS IN EUCLIDEAN SPACES

In [5], Cheng and Nonaka proved that a complete n -dimensional submanifold with parallel mean curvature vector in a Euclidean space \mathbf{R}^{n+p} is isometric to the totally umbilical sphere, or the totally geodesic Euclidean space \mathbf{R}^n or the generalized cylinder $\mathbf{R}^1 \times S^{n-1}$ if $S \leq \frac{n^2H^2}{n-1}$ is satisfied. Where S and H denote the squared norm of the second fundamental form and the mean curvature, respectively. In [2], the author studied submanifolds with constant scalar curvature in Euclidean spaces and successfully proved the following:

Theorem 3.1. *The totally umbilical sphere, the totally geodesic Euclidean space \mathbf{R}^n and the generalized cylinder $\mathbf{R}^1 \times S^{n-1}$ are the only complete n -dimensional submanifolds with constant scalar curvature $n(n-1)r$ in a Euclidean space \mathbf{R}^{n+p} , which satisfy $S \leq \frac{n(n-1)r}{n-2}$. Where S denotes the squared norm of the second fundamental form.*

Remark 3.1. The investigation of hypersurfaces with constant scalar curvature in Euclidean spaces was been done very well, but the study of submanifolds with higher codimensions and with constant scalar curvature in Euclidean spaces is not done almost. Hence, the result is very important for the forward research of submanifolds with constant scalar curvature.

REFERENCES

1. Alencar, H. and do Carmo, M., *Hypersurfaces with constant mean curvature in spheres*, Proc. Amer. Math. Soc. **120** (1994), 1223-1229.
2. Cheng, Q. M., *Submanifolds with constant scalar curvature*, Preprint 2000.
3. Cheng, Q. M., *Hypersurfaces in a unit sphere $S^{n+1}(1)$ with constant scalar curvature*, Preprint 1999.
4. Cheng, Q. M. and Nakagawa, H., *Totally umbilical hypersurfaces*, Hiroshima Math. J. **20** (1990), 1-10.
5. Cheng, Q. M. and Nonaka, K., *Complete submanifolds in Euclidean spaces with parallel mean curvature vector*, Preprint.
6. Cheng, Q. M. and Wan, Q. R., *Hypersurfaces of space forms $M^4(c)$ with constant mean curvature*, Geometry and Global Analysis (Sendai 1993), Tohoku Univ., Sendai, Japan 1993, 437-442.
7. Cheng, Q. M. and Yang, H. C., *Chern's conjecture on minimal hypersurfaces*, Math. Z. **227** (1998), 377-390.

8. Cheng, S. Y. and Yau, S. T., *Hypersurfaces with constant scalar curvature*, Math. Ann. **225** (1977), 195-204.
9. Chern, S. S., do Carmo, M. and Kobayashi, S., *Minimal submanifolds of a sphere with second fundamental form of constant length*, *Functional analysis and related fields*, Springer-Verlag, Berlin, Heidelberg, New York, 1970, pp. 59-75.
10. Li, A. M. and Li, J. M., *An intrinsic rigidity theorem for minimal submanifolds in a sphere*, Arch. Math. **58** (1992), 582-594.
11. Li, H., *Hypersurfaces with constant scalar curvature in space forms*, Math. Ann. **305** (1996), 665-672.
12. Nomizu, K. and Smyth, B., *A formula of Simons' type and hypersurfaces with constant mean curvature*, J. Diff. geom. **3** (1969), 367-377.
13. Omori, H., *Isometric immersions of Riemannian manifolds*, J. Math. Soc. Japan **19** (1967), 205-214.
14. Shiohama, K. and Xu, H. W., *A general rigidity theorem for complete submanifolds*, Nagoya Math. J. **150** (1998), 105-134.
15. Yano, K. and Ishihara, S., *Submanifolds with parallel mean curvature*, J. Diff. Geom. **6** (1971), 487-498.
16. Yau, S. T., *Harmonic functions on complete Riemannian manifolds*, Comm. Pure and Appl. Math. **28** (1975), 201-228.
17. Yau, S. T., *Submanifolds with constant mean curvature I*, Amer. J. Math. **96** (1974), 346-366.
18. Yau, S.T., *Submanifolds with constant mean curvature II*, Amer. J. Math. **97** (1975), 76-100.

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE,
JOSAI UNIVERSITY, SAITAMA, SAKADO 350-0295, JAPAN
CHENG@MATH.JOSAI.AC.JP